Year 10 Mathematics Learning Journey: Unit 4 - Equations and Inequalities

. Step 12: Complex
"| Step 13 (H): Quadratics equations and inequalities Steps 10 (R) & 11: Equations and

using factorisation e .
g List the integer values that Inequalities: unknown both sides

N Factorise x? + 5x + 4 satisfy both 4(x + 5) < 24 Will the solution set of 4x + 8 > 9x + 5 be the
and 3(3x + 1) > 7x same as the solution set of 9x + 5 > 4x + 87

N B Step 7: Draw straight Step 8: Find solutions
€p >: NUmberiine line and quadratic graphically
representations h

grapns How do we know which

Whatis the difference in How many solutions graphs to draw to solve
meaning if the circle is

shaded or unshaded? does the equation of a Sx—2=97?
. straight line have?

Step 4: Solutions on a number
line

Steps 2&3 (R): Form and solve I

“| think of a number. | add 7. | equations and inequalities Step 1: Understand

then double it. My answer is less meaning of solution
than 30.” Show the possible

solutions on a number line.

Rosie buys 5 pens. She also buys a
ruler for 70p. She pays with a five-
pound note. What is the most each

pen could have cost?
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Do solutions to
equations have to be
integers?
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